107. A sphere at 600 K is losing hgat dueto radiation. At this temperature its rate of cooling is
R. The rate of cooling of this sphere at 400 K is (temperature of surroundings is 200 K)
600 K & &3y G &¥dn d8Emo orgo® &R0 §5° 150018, & s (S DS ©0
P8 Béo R & Ao 400K 8¢ a3 b «b $erT T (uddn e’ (i
200 K &53y8)

8 16 3
(st A A 3) 7R @ 1R

108. A message signal of frequency w_ is superposed on carrier wave of frequency w_to get an
amplitude modulated wave (AM). Then, one of the angular frequencies of the AM wave is
(1) equal to the amplitude index of the carrier wave
(2) equal to the angular frequency of carrier wave
(3) equal to the modulation of the carrier wave

(4) equal to the amplitude of the carrier wave

£0Hd HOWNS $rdogTRS (AM) d8omd) Fodhbn, ol &8 PFEH DoTSIW
Vo) BR)IgH0 W Do, FE oD AHYJHgIV w, & oorgs Dol
£0d% HOMB SrdogTes ESody Ty ¥ §e3 0% FrdsRYIgIdN

(1) o5d $806Y $rdgBaS Headdns ddrso

2) oS 808D §dok PIIgHNE ddrSo L= L
(3) &S SSoKY JrdgBass ddrdo .

4) o $808D) L0HD HOWES® BIrdo = ‘

, M Bl
Nojcimh

. 109. A circuit diagram of CE transistor amplifier is given in the figure, then
CE (@°o3)2b $d8o ¥y Seodo DHoS® RHAIH. wOND

CZ
Ic RL |
E\L Vo
Vee |
i
BhiE )
I o :
(1) Vpgt V= Vg + Ry 2) Veg — Voo~ IR, = IRy
3) ICRL = IBRB -+ AIERB “4) VCC = VCE + ICRL
VBB = VBE + IBRB for Vi =0

Rough Work ™
: 1 F = YARL2)
SESVEN E R '

43 S :—‘/J’W{L Xﬂr‘pﬁi\*
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110. pn junction diodes are arranged as shown in the figures (A and B). Identify the bias applied
to the diodes.

¥ O

-

e B
A

(1) Both (A) and (B) show forward bias

(2) Both (A) and (B) show reverse bias

(3) (A) shows forward bias, (B) shows reverse bias

(4) (A) shows reverse bias, (B) shows forward bias

Derg® A $00050 B &° Srdd& pn 08 ETrEen I N2EID. EWVrEOH

©H0E wbrId HoboNod

(1) A %0050 B oo Bodk REFE0 Srhdyeyon

(2) A %8050 B oo Bodr 853530 SrnT)ow

3 Ai@)ﬁ‘r‘ig&o 2050 Srvdos, B 85“-‘%@0 2O5R 6?%3&3‘_;0&

4 A8 FE 0 dXrD SrB06, B PEHE 0 2csrd SrHB06

Rough Work
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111.

(A)
(B)
(D
€)
(A)

In a B~ decay in a nucleus, a daughter nucleus that has discrete energy states is produced.

The daughter nucleus reaches ground state from excited state by emitting y-ray.

The binding energy of hydrogen nucleus is far less than the binding energy of helium
nucleus. |
(A) False, (B) True (2) (A) True, (B) False

(A) True, (B) True ; (4) (A) False, (B) False

2 To8¥os® P go%o wondDdypds ISE F8Jronen ¥OAS adg Bo¥o

6338 Johowddod. =g Tod¥o y-88m =JodTohdo orgo sz
Jrono S00d a,‘fo"’g‘ooaé DEoS08.

(B) - (82S So(d80 Ty »odS ¥§ wrdo To|d¥o wogd 4§ K0T v
CETR
(1) (A) 85y, (B) dz=o 2) (A) dzo, (B) $dy
(3) (A) dzo, (B) d=o (4) (A) 5y, (B) $5:y
S » N R
112.

The values of potential energy, l@eneigy and the t&tal,engy of the electron in the

fourth orbit of hydrogen atom are respectively

¥

B e 85T’ Troodd EE S0 Jdog S PBIHS -%_%, K8 48

Hoddsn Jwdo %_én denden IJHm

M
©

~17 eV, -1.7 eV, $ge f?eﬁ,, () +1.7 eV, +1.7.eV, —g.)?{c?e 3

~1.7 ¢V, + 085 eV, 085 eV @) -1.7 eV,+1
6 = "k.k S

..;\3-()»«:5 ( oy

L N

Rough Work TG/ d \_'%7%}
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113. In Davisson-Germer experiment the decrease of the Wavelength of the electron wave was
done by

(1) keeping the same potential difference between anode and filament
(2) decreasing the potential difference between anode and filament
(3) increasing the potential difference between anode and filament
(4) keeping more distance between the anode and filament

BI2S-RE 6 (v Trifos® dose 9P $S08Bggo S Tbww®H Brod
(1) 65°&8 HoosE Hogg 8B P BISHS FSdo Godos Ao

2) @§5§ DOoJoeds PP FBIS FSd» dfhosod argor |

3) u5’&8 HoRodss HFg PBIBS PS50 DoWob orgo°

4) 5768 HoPoosHs g &rdo LS e oego°

114. An electromagnetic wave is travelling in a medium of permeability p . and permittivity €l
If “c’ is speed of the wave in free space, then, the refractive index of the medium is

My 20205008, e D088 LOAS Srdgod® ¥ g ATy 08 Soio
(PSrs3d0d. o SSoio By SHo dssFos® ¢ wond, oSrsio By,
S8PIS Koo

C 1. 1k e . »
(1) E 2 E\/'; (3) C\/E @) eye, iy

115. A resistor 20 Q, inductive reactance 15 Q and capacitive reactance 15 Q are connected in

series to an AC voltage source V =200+2 sin ot . Then the maximum current in the circuit
is '

20Q 280, 15Q (bO8S3 (588°G 080 (hrEo H0a%n 15Q Edods (BB Gato
33Vebos V=200V2sinot Py D088 FP2 w08 Haet ©080D3D s,
& Hodhod® Ko VBogS (dFTro Dewd

M 10v2A (2) 10A (3) 20A 4) 20/2A

Rough Work
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116.

The magnetic flux linked with a coil varies with time as ¢ = 3t> + 4t + 9 webers. The

induced emf at t = 2 sec is \BX Q.\\

<
28 8K Db ©35:0050Dd ©IIY 08 VPT T H0 So%88 ¢ =37 +4t+9

Sobom Srdsd1d. t=2sec 3§ (P0S ddgayod 2OdN 0D ’\/\/B

() AN @ 6V 3) 16V @ v — Vv

117.

A bar magnet of magnetic moment 20 J/T lies aligned with the direction of a uniform
magnetic field of 0.25T. The amount of work required to turn the magnet so as to align its
magnetic moment normal to the field direction is

0¥ Som woHI)osR) wohIod (H¥sw 20 J/T. oA 025 T Q868 echIrpo0d
B8 84S wdod)Tdh. wdhIposr), &9 oy od (FrEs0, F LU"QQ

powomr GoBHL BV IS P 287 HY Dood

()05 2) 03] (3) 5017 4) 0.107J

118.

A galvanometer of resistance 99 Q requires 5 mA current for full scale deflection. It can

g

be converted into an ammeter of range 0.5 A by connecting a shunt resistance of

99 Q) V& B Ko rT"DS‘U'éJ“éS'éw B S0 5:02,_5 LRSEJoRRARY Todero8 SmA
Deogs (ParErdn sETH. @I 0.5 A w5gSHdn (range) wA LM B8
Bo%oerdd sodond hod ISFIW

1) 1Q Q) 2Q 49 4) 3Q

Rough Work . \
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119. Two concentric coils, of 10 turns each, are placed in the same plane. Their radii are 20 cm
and 40 cm and carry 0.2 amp and 0.3 amp current respectively in opposite directions. The

magnetic induction (in Tesla) at their centre is

28 808 10 $odw Ko Bods O Bo|s¥ &« Soheos oF Soodt G0TW&o
@éomado. ¢ a:vg‘ﬁ‘gé:ooa S5 20 cm S9805n 40 cm, S0005n R argo°
SEJm 0.2 amp $2605» 0.3 amp o DBogS H$¢8TE vt BdTTyow. &=

Bo(SS50 $& edhdrod 8w DD (B
Qe - & L )

5 ' 3
()7 K @ 7 ¥
9 : ' 7
(G 7 H @ 7 K

120. A non-conducting ring of radius R has charge Q distributed over it. If it rotates with an

angular velocity o, the equivalent current is

R o7grddn fo o vatedy S000D ¥Bfo Q VE8SZD8. 08 o Scfas
SASHE® | Fomdn IS Jdo, $og JBgs (DarErD) Jeod

Q) Qo Qo
(1 >R @) Qo () R (4) o

Rough Work
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CHEMISTRY
121. 0 = C—NHNHCH(CH,),

=

N

Drug (I)
Hao sy (I)

The above Drug (I) is an example of

(1) Antacid 4. ' : nalgesic

(3) ,Antidepressarﬂ?L 4)/ Antiseptic

D H00d () --------- S8 Goordem

(1) e85 I8°FES0 : 2) &y LD
3) argHhoe IS FES0 4 DI V& FES™

0
e
122. The correct order of reactivity of the following iodides in Sy2 reaction is \"‘“‘ S D¢

S,2 $8gS* (806 gwgéo@n% H6THS Sorghod (€800

@
hY ; gt
() H,CCHCECHT (i) (H3C)3C% (iii) H3CCH2(|JHCH3 Wy
\
I
(1) @) > (i) > (iii) ™Yy Qoer > (i) > Gi) CHy cl

¢

(3) @) > (i) A @) (i) > (i) )
e\ /0 _
c- i

Rough Work
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123.

Identify X, Y and Z.
X, Y 50050 Zodo 40 0d)de.

H H :
OH
‘ H
Y Z

X Y Y/
(1) m-Cresol Catechol Quinol
m-8 & EEENG] 8eS°S
Catechol Resorcinet”™ Quinol—
TS 830 )S'S 83S°S
(3) o0-Cresol ~ Resorcinol Catechol
0-(8S B80S TosS
(4) Resorcinol Catechol 0-Cresol
00 yS*S TesS 0-8>S
124. Identify Z in the following reaction
Bod WEgS® Zo K28 0Hdw- _
i) Ba(OH
2 H,CCOCH ) cidi &
3 3 11) A ? Vv Car
@) H,CCH,CO i
3 2 2 \}5 c
(2) 1 2H,CC0 - & & N
A
@ H;CCQCH,COH Al
“) H;{(%c}licoc%
T -OH
125. H,CCH,COH — > X — > ¥
What are X and Y ?
X $0805» Yeo 2272
X Y
(1) H,CCH,CONHz~ H,CCH,CH,CO,H
(2)_ H,CCH,CN H,;CCH,CONH,
H,CCH,CONH, H,CCH,CO,H - -
(4) H,CCH,NH, H,CCH,CO,H e e
Rough Work ( gt = S )
: L LR o N
C\)“} b C
A
50 S
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126.
(H,CCO),0
Pyridine 2,545

X Y ———Z

i3 CCOOH (Major)

Identify X, Y and Z.

X, Y H08Xn Zody HdoR)dn.

X
OCH
N-COCH,

Q)

NHCOCH,

P

(2)

NHCOQFi‘

NHCOCH,

(4)

Y
GOCH,
N-COCH

.

NHCOCH,

¢

NHCOCH,

b o

NHCOCH,

o)

(De°d)

NHCOCH,

2
Br@Br

Rough Work
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127. If the standard molar enthalpy of formation of CaO(s), CO,(g) and CaCO,(s) is —

and —1207 kJ mol™! respectively, the A, H® in kJ mol™! for the reaction
CaCO,(s) - CaO(s) + CO,(g) is A< &3
Ca0 (D9), CO () H388w CaCO (Do (Ddre 3?@5 boéﬁm ro;st’é)gm
$8bm —635, —393 B80S0 —1207 kI mol”! wowd, '
CaCO,($2) - CaO(%) + CO, ) $8g& A HC kI molloe?
(1) 965 , 5@/2235 (3) +179 TP -179

128. If the K of a sparingly soluble salt, A,B, in water is 1.08 x 1078 mol® L5, its Solublhty.

in mol L

2% o Lcr’éefioﬁo odwo, A,B,8 De3est K , 1.08 x 1078 mol’ L wons, ood
Laﬂs’mﬁoéaé mol L7lee®

™. 1073 - &)= 107 (3) '1.08 = 107 e

129. At a certain temperature, for the equilibrium H,(g) + I,(g) = 2HI(g), if the equilibrium

COHCGIltI'athI'lS in 1'1'101 L
[Hy(@)] = 0.20; [L(g)] = 0.20; [HI(g)] = 2.0, its K, is
28 02 (WS ¢ H(a°) + L(5°)= 2HI(a) ééo@??oé’aes‘ DB P8 mEsw

mol Lloe® [Hy(s7)] = 0.20; [L(z%)] = 0.20; [HI(m")] = 2.0 wo»d, &d K,
(1) 10 ) 0.01 /100 @

130. Hydrogen resembles alkali metals in many aspects but differs in

/(Jr)/l\/létallic characters (2) Oxide formatier~
(3) Sulphide formation (4) Halide formatiosC

I @el T $8%H FESH s FOLeds 3985008 s BAS AP T,
WIrR0H ?

() eS’SKF’c;SO"aeJ;:SJ ¥OA sod®o b }}Eq

2) &3 3y60d Ddadiﬁé&o 2.5 '

3) % ol DENIS o

E43 ;%‘.DS:;S; ‘bd;ﬁﬁ;zo 670%S :(j_’\)} VL }_/_\,?;;SSX "E}L
nghw{g(l;,t | e afl By 1R o |

ARl ST k.- tdyi



131. Which lithium halide is soluble in pyridine ?
DOASS® &y DBaS0 H$BE 62

- %
(1) LiF"’l\ \i)' LiCl (3) Lil (4) LiBr

132. What is the nature of aqueous borax solution ? @
(1) Acidic @ Alkaline (3) Amphoteric— (4) Neutral

25"’0"53 BO(OPHe0 (D53 D3 ?

() e&d _ (2): g% : (3) BgdgeSH CONE L3

133. What is the catalyst used in the following reaction ?
2CH,CI + Si — 8L, (CH,), SiCl,

STOK
(1) Copper powdeg}'\ o 62) Zinc powder
T3 Platinum powder (4) Nickel powder
Bod algads IS3S® adTrAows ¢By9880 B2
. t‘séajiﬁéo .
2CH,Cl + 8i 29222, (CHy), sicl,

() 5255 2r& (2) 2085 &
3) FBs0 > 4 938 8

134. What are the heights (km) from the sea level for Troposphere and Stratosphere ?

(1) 5and IO—cig\ /Q)Md 10—50.
@y 1030 and 5—1@>< @) 10—20 and 1—10
VIRE Do Jo0d (BFIEmo B0 Bw 95 Eere Do (km) Jod?
(1) 5 %6030 10—50 @) 10 33650 10—50
@) 10-30 S5be%m 510 " (4) 10—20 Sab68 1—10
'Rough Work

iR £ 508
ke

- ! l - : s
= 10
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135. The IUPAC name of the following compound is

- 4-}Ly'droxy-5-}ile_t,hylfhexan-2ye
(2) 2-0x0-5- _g:lyl-hexan-tl-ol
(3) 3-hydroxy-2-methyl-hexan-5-one
(4) 5-oxo-2-methyl-hexan-3-ol
Bod BTy ¥do fo?»aaS‘QZr [UPAC %00
H

(1) 4-%0(@°83-5-NBS-75)9-2-43
(2) 2-083-5-20BS-%3)5-4-65
(3) 3-%0|@8y-2-BS-rBIS-5-48
4) 5-853-2-20B5-%r5)5-3-45

136. Which one of the following statements is not correct ?
(1) Alkanes undergo halogenation by -free radical mechanism.
(2) Ethane exhibits conformational isomerism.
(3) deiuwetate on heating with soda lime gives methane.
(4) Electrolysis of sodium acetate gives methane.
B0d JVEpoS® IO HOTHIL 5872
(1) ©9)3e ?ocgia?‘) (8988 Sorg dgrSo orgor FHSPedEEmo Jodoerow
(2) SBS wddrd JEyfgod (DE87%08
(3) B0 ANVEL FarBs Td TH NBII ado0d
(4) 300 IDVE JdoghgTans® NFILH 108

Rough Work — I )
our . | C/}l@ oG+ Na, . R g
: A N2

54 S
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137. Which one of the following statements is correct ? &

(1) Deactivating groups are ortho and para directing group$<

(2) Reaction of benzene with l-chloropropane and anhydrous AICl, gives n- -propylbenzene

(3) Electrophilic substitution of benzene takes place v1a€’(:-tz1r1}ieij

(4) Cyclohexadiene is an aromatic compound o

808 JFnos® DB HVOTNIB? - S

(1) d5Bug vIordteor ©f HONw >0 &I NT Y Baries

(2) BodSIo 1-5°6 ¥ a’wboéoo R)go AlCl o8 $dg w0DID pdo n- (TS
Bodddo ’aod

3) BodSS® Jo§f9pd (H8F D Idg o-DofYo Tgo 28208208

(4) DEWEYBSRS ¥ 5838 2633&%‘260 t @ Y

138. A compound is formed by elements ‘X’ (ca )mns) and Y’ (anions). gns of J‘)\r” form cubic
close packmg (ccp) and ions of ‘X’ occupy all the _octahedral voids. What is the molecular
formula of the compound ? @l
a¥ Dorgd, Hroste K (S5 TSen) 005» Y (9dd5rSoned adaéo&:
i 63033’3, OBTSo0 DA TE DIETEy (cep) QEEIm, X oy ITOWRISTIN
oW ($S So(groR 0B e(Eaoo Wtz )ow. darddo WLy ©er 8 U D& 2
(L XY, (2) ‘XY 3) XY (\1 Xey

139. The density of 20% (w/w) aqueous KI solution is 1.202 g mI~!. What is its approximate
molality ? (molar mass of KI = 166)
20% (wiw) KI 2o ([@rdnd) s 1202 gmL™!. o0 @gronoW) Borordd dod?

KI Togy, 3red ($550°8 = 166) R
1) 0.5m @) 15m /(3»{ 0.15 m @) 2.5m e )
_ GR49o
140. An aqueous sucrose (molar mass = 342) solution is labelled as 20% w/w. What is the mol$S 3%
fraction of water in this solution ? oo
a¥ OrEE (Broed [$SgoR = 342) wmo (o) 20%SEIw BEVoT . %
Trdwos® 8 [ Do ? W \£3 o
(1) 0.955} (2) 0.987 (3) 0.961 U( )’68 (4) 0.945 l %’-) '\WO
~ o
&6 W 4 \
L pa = A\ > 2% O) i o8 \
Rough Work — PR : > 9 J 0
g W R i A e M L
Lo | U0 — 8 e V,; St
Lo ; w0 W g o e s PR )

\&rt =% = , L
AM2015D (Jqe Y 55 S 3__/5@/—_ 5 ?%
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141. The conductivity of 0.01 mol L™ KCI solution is 1.41 x 10 S cm™'. What is its molar
conductivity (in S ¢m? mol™) ? .
0.01 mol L™ KCl (@30%) sr&r§dg0 141 x 107 S em™. &d Srers arimgdgo

(S cm? mol™! &%) Jog? : :
1) 14.1 2) 141 97/1410 @) 141

142. Assertion (A) : The rate law of a reaction cénnglzlf predicted from its balanced chemical
equation, but must be determined experimentally only.
Reason (R) : The order of a reaction is always an integer like 0, 1, 2 and 3.

The correct answer is

(1) (A) and (R) are correct, (R) is not the correct explanation of (A)

(2) (A) and (R) are correct, (R) is the correct explanation of (A)

(3) (A) is not correct but (R) is correct

(4) (A) is correct but (R) is not correct

OE® (A) @ 2¥ BSg Tew HDHELSerdy (BOIrmrd) Sorr S (S DFowowHTLMm
: o) $r0g0- WS FIafd HIESmo 008 Dgro o Bdw.

s*dmo (R) o eE 15015@3’30103’530 DeByE 0, 1,72,'3 SO X Rrgrofo.

20 VOIS VIS S

(1) (A) 08d8n (R) en DOTBID, (A) H (R) PO HTew 57

() (A) H005» (R) oo DOTDID, (A) & (R) DOOBS DdHTed

() (A) BBTHH 57, = (R) DODIB

4) (A) 20230, 579 (R) PO TDIL 2%

143. The order of coagulating power of PO, SOi", and CI” in the coagulation of a positive sol is
28 §3TE S 9ypo8S0s’, POY, 807 Sobdsw ClI” o Hpo88 ogg (8500
A& PO > S0 > CIr (@) .Cr =80y > PO

(3) CI'> PO}~ >é'§§( 4) sor>cr >@(g"

\ i
144.CaCO, MgCO, —2 5 X + Y + Z R ACALE
What are X, Y and Z in the above reaction ? A= _—
= 15656* X, Y 50080 Z o 222 P Yok ds
X N o ol 5
(1), €Cad MgCO, CO ; 0 /% \Ub
& Go M 26, ek a5
(3} Ca Mg 2CO0, HD’L
(4) CaCO, Mgo” CO,

Rough Work : Y lé § J
(SIS v
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145. Match the following

List-1 List-11
Oxoacids of Phosphorous Oxidation State of Phosphorous
(A) Meta Phosphoric ' RN 1) +4
(B) Pyro Phosphorous\v’n‘ A I +1
(C) Hypo Phosphoric *ch?\%u (IID) +2
(D) Hypo Phosphorous Q\EQ/ t;)? 6 ANy
T (V) +5
Bod 8 :SDIoWadn
R | - T
@16965 u5yuDs - &é@tﬁ% w8886 28
(A) & 308 D) +4
(B) »8&° é‘“‘bg.ﬁf} _ D +1
(C) 7 2308 ' () +2
(D) 8 6385 ' V) +3
(V) +5

The correct match is
20 VOTNS VITrID0
@Ay By e ®)
() vy dvdh o @
(2) aN) - @y, dl)
G an @y @ O ol

.
A V) @ ot
VA @ .

146. In which one of the following reactions, a 16 group element will get precipitated 2

Bod o 1565@5’5, 16 $ (50D Swrofo wdFnEHPHS0d?

(1) Na,67+ Cl, + Hy0 -5 2f NaS,0, + Cl, + H0 —
‘(3) 2FeSO, + H,SO, + Cl, —> (4) 0, + 2H,0 + g
Rough Work
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147. For the first row transition metals, the B values are
E® \% Cr Mn MM Fe  Co Ni Cu
M>*/M)  -1.18 —0.90 —1.18 —0.44 028 —0.25 +0.34

What is the reason for the non-regularity in the above values ?
(1) non-regular variation of ionisation enthalpies
% different number of electrons present in M2* jons
(3) non-regular variation of ionic radii
(4) the variation in densities of transiticqg:mitals
S0EE (A8 26598 o*so E° denden (8086 dSom samyon

Ee Vv Cr Mn Fe Co Ni Cu
(M2+/M) -1.18 —0.90 -1.18 -0.44 —0.28 -0.25 +0.34

& Jdod w¥ (500 TEPSTIE sEmo D32

(1) @0%J88n Qogrd yo ot Srdoy ¥ ($50 ‘bcgacﬁl‘s SEFS S0
2) M¥ worSeos® 29 Dopgd® JosTaSevodho .
(3) BT TEFTOS Sy wf ([E DSBS TEFSdo
(4 HOSES Swrosto Jro(SSS* S, S o0

148. Which one of the following complexes has more magnetic moment value ?

(8od YoBrods® BE DER D wI 08 (FHE Jewd Fodd?
(1) [FG(CN)6]3_ » (2) [CO(EQI;Iﬁ+ (3) [Fe(H 0)6]3+ (4) [C0F6]37

T S i ! nﬂz@ uf ™ |
149. Identify the addition polymers from the following
(i) Terylene : (ii) Polypropene
(iii) Polyacrylonitrile (iv) Nylo@j

(v) Polyvinyl chloride

Bod a8S® bo¥od FOZE0D: 908 0B

() BOOS (il) >0 DS (iii) TOIB 9 IV (iv) BoS 6 (V) FOIIS §° 3&
(1) (/'4), (i), (v) @ @, (ﬁ) () (). 4 (pxv)

Rough Work
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150. Which one of the following has tw@@‘lucosq un@’ !
AP Maltose | _-(_a’) Sucrosﬂ7L~
(3) Cellulogel @) Lactogé
Bod 8S° D& Tod a-D-fr&E Sarded SOLYSEURY
() drgE 2) Ho8°F
(3) Deugs'E 4 or§'E
151. What is the volume (in mL) ow NaOH required to prepare one litre of 0.2 M NaOH ?
o€ Derds 0.2 M NaOH %o S350 B osnd sedeDd 0.5 M NaOH $H3D0857°00
(mLeos®) dod? : : ‘
(1) 200 - 42y 500 (3) 400 (4) 250
152. Three students namely A, B, C have done an experiment two times individually, for which
the correct value is 2.00 g. The results are given below
Experiment 1 Experiment 2 oL +o0-&
® (2
Student A 1.95 1.93 B L
W)
Student B 1.94 2.05 = Y0 e
Student C 2.01 1.99. R
Whose results are accurate and precise ? —
A, B, C ol 0¢8> bw?ggaoa 2f (DT 28D Tododrdd DY,
BErrI8 wder dood 2.00 g (HTH Deondor 8ol adndS
PSEide 1 PRTdo 2 |
(g ()
dorgd A 1.95 1.93
Dorgg B 1.94 2.05
DU"SQ 0 2.01 |
QD8 (HTWrK Jeodeon dYHoMD, gRSomdy GT)oX.
(1) B 2 A (3) Aand B @ C
A $:0050 B
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153. The gas that liquifies first, when cooled from 500 K to its critical temperature given in
parenthesis is
00K 008, $008088m0c® asends Q00d TS rasnHdo FSHES S0
BIIYE BoSd ($DSDoSeS5a
Y NH, (405.5 K) ' (2) €O, (304.1 K)
(3) N, (126.0 K) (4) 0, (1543 K)

154. Which one of the following statements is not correct ?
(1) For ideal gases, compressibility factor, Z = 1 at all temperatures and pressures.
(2) Viscosity of a liquid decreases with increasing temperature.
(3) The order of root mean square velocity (U, average velocity (U_,) and most probable
velocity (Ump) of a gas is S L. = Ump.
(4) The kinetic energy of a gas is inversely proportional to temperature (in K).
& 808 dImost Do VOTHNIE 52892

(D @) S, Do 5§ 688 TSwdos Bobes Moo, Z=1 o5 &06
(2) (8%0 RYAS, GPASS® DEHS oS e S28008

3) 28 TS, Smeo Do Do ¢ Swre Fifdw (U, DKo u,,)
$o8050 K8y Sogrdce Fdo U,,) © (0, Urms>Uav>Ump

4) 2% s°asw KB=48, sl KoshH)H P srtodrdos &0t00d

155. Which one of the following is not correct ?
(1) Formal charges help in the selection of the lowest energy structure of molecule.
(2) Formal charges indicate real charge separation within the molecule.
(3) Formal charge of each atom of polyatomic ion can be calculated.

(4) Number of unshared electrons on the atom is also considered for calculation of formal
charge.

Bod &8S® D6 BoTIE &2

(1) 3636 red ©8 S8,5 $8H0 weo Do) 280 SErD8 & BT F e
(2) P85 Teow v Ju 70 PR35 SrdIon

(3) 2570 HESr0¥ wosrS St (D8 DS % 1S G B8 0w S8y

4) S T8 BEPXINIES {adére;osi) oS Gd) Do dd QO 9SO 6)
g e &‘é&rﬁ@:tb -
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156. The dipole moment of BF, is zero because

(1) It is a covalent molecule
(2) It is a tetra atomic molecufe/™

- (3) It is having trigonal planar geometry

(4) The electronegativity difference between boron and fluorine is more
BF, 838)& (7280 dood D). DOIES

() 28 HHoTr= s emd)
(2) ’d e ‘o’adérm@wél 29 E90 &)
3) ad (85%m DHodo wgdd EOARNI B

157.

(4) $°0°R, FOI0 Jogg w0 I a‘% B D85 m =
ey a) Q

;’ =) S
O b Vg

The first ionization enthalpies of N follow the order L Wz <
N,O,Fo 3048 oTB0FERS dogdyom ardods (EHodw 7 q% e

(1) O<N<F Q) N'<O <R B F<N<0_ @) FSO<N

158.

The metal which can form an oxide having- metal : oxygen ratio 2 : 3 is
ES'E‘;D"’%_'? 3@.32&5&: V28 2 : 3 Ho 933185 W8S &Ero
(1 SI}LG) (2) NaleL (3) Ba - (4) Bi

159.

The ground state energy i@ of hydrogen atom is —X. The minimum energy in J, required
to promote an electron from n = 1 to n = 2 in He" is

I BeS HSErmoD) Frron 4§ J osh —X.He" &* n=1 %08 n=2% do§9d
205850 Do 8 &95"55553{‘13 £ %8 Jost

160.

1 oS 2 3 . 4) 3X

(i @ @t

Hydrogen spectrum gave a series of lines at L 3;]: d% cm™! (R = Rydberg constant
in cm™). These lines belong to /

(1) Balmer series (2) Lyman series (3) Pfund series (4) Paschen series

IR =4
S386%y ——cm

36 16 100
(R=86 =6 %qgc“oéa’aoa cm!l 06®) & Ages BI8 HowodBODID?

&S 58600 5 Ao (@8 adyos A

(1) eS8 (36l (2) BHS (BB ) b 36
| : g
3) R (7B 4 QS (34 ?/\.+
Rough Work ! !
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